76 @

90

@) wmEE=zE

(@ w8 x=5 ATk FHIMRLER S 7 2
(1)4x—6<14

(2)—2x+72> —x

(3)5(x—3)>x+6

(4)2(x—5)—3x> —4x

(5)3x—2(x+6)> —4x+3

(2)

2) ~ (4) ~ (5)

(@ Fypes R R 2x—1 <4x—6 IR 2

n5 @2 55 (03 6) 5
2x—1<4x—6
—2x< =5
>3 B9 W0

@ (B )/NHSE 128 NHIEESE 40 5% - WIRAE x 1% - BB
R K/ NHFEERAY 3 65 - RIATSTH R IE—i A5 =0 2 B
& (x+40)>3(x+12) B)(x+40)<3(x+12) 2
©(x+40) >3 (x+12) (D)(x+4o)<3(x+12>

tD

@ ( © ) FIHTERR%ER —2 <x< 3 WET 2 [BE 5]

A) (B)

—2 0 3 —2 0
©) D)

—2 0 3 —2 O



Q77

(@) wm&Emw
)

@ ®) L BT 2

>

W5 -D-5 G=H>1 B3 -2)-5 -3 >—7

©F (x+2)— 3 (x=3) >3 D= (x+2)— 5 (x=3)>—1

@ (O ) FHIME RS —3<ox—1 <5 WRELT 2 [ B

. (B) .
SN > —
— 0 5 —4 0
©) . D) .
— N —
—10 3 —10 3
@ (© )anflE - B AR =S8 4 B> 4 B C
Cr BB 10 3x—1+ 15 o a1 15
=M% - Hrh B BT C B o 4R 10<3x—1<15
x Ry —EERES - Hx= 7 11<3x<16
W3 ®4  ©5 D6 35 <x<5
62153 K x b ¥88 H. B Bl

SEL CBE i x=5-

91



78 @

92

8
@ 1 FHK—TE—RAZER, - WER A -

(1)2x—3<3 (x—2) (2) 32— (x—1)>0
2x—3<3x—6 4x—3(x—1)20
2x—3x<—6+3 4x—3x+3>0
—x<—=3 x>—3
x> 3

Y
I
W
o

@ﬁﬂ%—3<yﬁ—l’ﬂ2x+y=l’ﬁ?xﬁlﬂ%ﬁ°
KB 2x+y=1>
Frlly=1—2x-°
—3< y <-—1
—3<1—2x<L —1
—4< —2x L2
2> x 21
Al1<x <2 B:1<x<2-

Y



& 79

(® BEREERI 8 S AT CEE (285 E) » SRR
BT B AR SREIEN x T SRR A T R
i 150 JG ° HI
(1) IREEFE TR S5 2L, -

(2) SRIEAR 2R -
(3) SRAF I — B B IR (M FTRE R B TE 2

(1)2x+ %xﬁ 3% 150

(2) %x§450
X< 180
(3) - —5f B Bxei= 180 JT ©

(@ TFBE R BB B

" B&E(R) E1E E& R
SRR E ] PREF ek | PREFRIER
i 20 A% 5 12 25 32
BB 2028RE S02R 10 17 30 37
BB S0 ARE 100 A% 15 22 35 42
HBE 100 ARE 250 A% 25 32 45 52
Bl 250 ARE 500 A% 45 52 65 72
HBiE 500 ARE 1000 A% 80 87 100 107

@Eﬁﬁ 1000 AT E 2000 A5 130 137 150 157

(1) /NBAFEILS T S B a0 E PR » & 15 7T » 18

SERHMENER R x AT RESTIHARGR : 50<x<100 . [
27K (1) RE » FEFEIEHS/ DR —ERE R EE - BEER/ D EEHEEHEN
EEAYS GG QIFEMEE 72 Ee

93



80 @

*  GERIBEKTVIRIHE 2 T2 -
PRI A TEAE L KTV /Y — [ AR
EXNE 6 /NEF » BB N YIRTRE

1 DABGETE T ZEEN - 2462 3200 oG
BUPISEEZOUN /(=N
B x ANBE 6 /]NKF

(=2
400x+80 X x X3=3200 B

SRR/ K 800 7T
r= SABSHI0TERE
400x +240x = 3200

A ERIERT3 /S A 4005T
640x=3200 5B EIEEAE) 80T
R BERE

x=5

2 EPEAARIREABGER Z D0 > DU TR 2
SOl ABGER] x ARf > DU &SR -

800X 6+ 100x <400x+80X3Xx
TR NBGETE

4800+ 100x <640x

4800 < 540x
4800 _ 80 _ o 8
X> 7540 — 9 879
e/ NS Ry x =9 o 9 ADLE -

94



